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Potential Negative
Effects:

1. Employee who trains
new employee cannot do
his work at the same
time
2. Takes time to ask my
supervisor

Potential Solution
l:
On-the-job training

Potential Positive
Effects:

1. Company:
need not spend more
time and money
2. Employee:
Increasing skills
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Potential Negative

Potential Solution
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Potential Negative
Effects:
1. Company needs
more capital (costly)

Potential Solution
I
Asking owner to

A 4

change software

Potential Positive
Effects:
1. Needs of user can
be fulfilled
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Chosen Solution:
Combining Potential
Solution | (On-the-job
training) and Potential

Solution Il (Doing

more simulations)




